
1) Convert the following improper 
fraction 61/3 + 45/6 into a mixed 
number

Answer: ____________

2) Find the mode of the following set of data:

33, 33, 33, 33, 11, 11, 11, 11, 11, 
35, 35, 35, 35

Answer: ____________

3) 18/4 + 11/11

Answer: ____________

4) What would you multiply by to 
decrease an amount by 36%?

Answer: ____________

5) 01:38 am To 07:10 am

Answer: ____________

6) (9 x 79) x (4 x 3-1)

Answer: ____________

7) Find perimeter of 
square having each side 
(s) equals 66 cm

Answer: ____________

8) Find the mode of the following set of data:

19, 10

Answer: ____________

9) Round 3.798 to 1 significant figures.

Answer: ____________

10) Round 3.798 to 1 significant figures.

Answer: ____________

11) Solve 1x2 + 7x - 1 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

12) Find the median of the following set of data:

32, 34, 33, 8, 17, 20, 31, 12, 39, 11

Answer: ____________

13)
19

Volume of Cone 
14

Answer: ____________

14) Decrease 25 by 24%

Answer: ____________

15) Simplify 19:3

Answer: ____________
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16) Find the percentage change from 14 
to 28

Answer: ____________

17) Round 1.396555 to the nearest 1000

Answer: ____________

18) Round 18.60576 to the nearest whole 
number.

Answer: ____________

19) Find the median of the following set of data:

33, 18, 37, 12

Answer: ____________

20) Find area of square 
having each side (s)
equals 36 m

Answer: ____________

21) Round 19.065629 to 2 decimal places.

Answer: ____________

22)
Find the next three numbers in 
the sequence
48,45,180,177,708,705,2820__,__,__

Answer: ____________

23) Round 16.7797 to 1 decimal places.

Answer: ____________

24) Convert the following fraction into a 
mixed number: 8/1

Answer: ____________

25) $209.00 earning 3.5% compound 
interest for 6 years.

Answer: ____________

26) 105 ÷ 15

Answer: ____________

27) What would you multiply by to 
decrease an amount by 90%?

Answer: ____________

28) 140 ÷ 7

Answer: ____________

29) A number is chosen at random from 
1 to 25. Find the probability of 
selecting prime number.

Answer: ____________

30) 'What is the probability of rolling 
factors of 9.when rolling a dice

Answer: ____________
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Total: ___ / 30
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Answers:

1) 111/6 2) 11 3) 51/2 4) 0.64 5) 05 Hours 32 Mins 6) 484243284 7) 264cm

8) 19 9) 4 10) 4 11) x = 0.1 or -7.1 12) 18.5 13) 3899.7636806561 14) 19

15) 19 : 3 16) 100% 17) 1.397 18) 19 19) 27.5 20) 1296m 21) 19.07

22) 2817,11268,11265, 23) 16.8 24) 8 25) $256.91 26) 7 27) 0.1 28) 20

29) 19/25 30) 1/3
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